LYON BUFFET

(A) Bolt M8X25 WW x10
Flat washer M8x19 x10
(© Bolt M6X15 g x2
(D) Allen key — xi

PAGE 1/2




LYON BUFFET

PAGE 2/2



LYON ETU

(A Bolt M8X25 P x10
(B) Flat washer M8x19 x10
(© Bolt M6X15 P x2
(D Allen key —— X1

PAGE 1/2




LYON ETU

PAGE 2/2



	LY0241999-100
	Page 1
	Page 2

	LY0242000-100
	Page 1
	Page 2


